	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				184,599	cords	
Hardwood				17,935	cords	
Pulpwood (Total)				202,534		
Chip & Saw (Total)				20,553	cords	
Saw Timber						
Pine				37,295,532	board feet	
Hardwood				3,210,130	board feet	
Saw Timber (Total)				40,505,662		
Total Pulpwood, Chip & Saw,						\$38,066,528
Saw Timber FOB Mill						
Total Forestry Stumpage						\$20,234,123
(Total)						
Christmas Trees (Total)	7			500	trees	\$20,000
Forestry (Total)						\$38,086,528
FRUITS						
Blackberries (Total)	50	25.0	2,800.00	70,000	pints	\$122,500
Blueberries (Total)	20	10.0	3,000.00	30,000	lbs.	\$58,500
Citrus						
Navels	*	3.0	100.00	300	bu.	\$6,000
Satsumas	10	15.0	150.00	2,250	bu.	\$45,000
Other Citrus	*	2.0	200.00	400	bu.	\$8,000
Citrus (Total)		20.0				\$59,000
Figs (Total)	10	4.0	200.00	800	lbs.	\$1,400
Mayhaws						
Native	55	125.0	45.00	5,625	lbs.	\$6,188
Orchard	*	10.0	240.00	2,400	lbs.	\$3,120
Mayhaws (Total)		135.0				\$9,308
Fruits (Total)		194.0				\$250,708
HAY FOR SALE						
CALCASIEU PARISH						

CAI		CT	TT T	D A	RISE	T
(A	LAL.A	.51	H, L J	PA	KISE	1

PLANT ENTERPRISES PRODUCTION

CALCASIEU PARISH		PLANT EN	TERPRISES PRODUCTION	<u> </u>		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HAY FOR SALE						
Grass (Total)	100	17,500.0	1.00	17,500	tons	\$1,617,000
Hay for Sale (Total)		17,500.0				\$1,617,000
Home Gardens (Total)	35,000					\$7,000,000
NURSERY CROPS						
Floraculture & Bedding	10				acre	\$125,000
Plants (Total)						
Woody Ornamentals (Total)	8				acre	\$800,000
Nursery Crops (Total)						\$925,000
PECANS						
Improved (Total)	40	225.0	20.00	4,500	lbs.	\$5,850
Native (Total)	40	30.0	750.00	22,500	lbs.	\$21,375
Pecans (Total)		255.0				\$27,225
Rice (Total)	35	8,100.0	52.70	426,870	cwt.	\$3,799,143
SUGARCANE						
Raw Sugar (Total)	6	2,160.0	5,000.00	10,800,000	lbs.	\$1,296,000
Molasses (Total)		2,160.0	150.00	324,000	gal.	\$64,800
Sugarcane (Total)		2,160.0				\$1,360,800
TOTAL ALL PLANT ENTERP	RISES					\$53,066,404
	FISHEI	RIES & WILI	<u>DLIFE ENTERPRISES PRO</u>	DUCTION		
	Number of		Units of	Total	Units of	Gross Farm
Fisheries	Producers		Production	Production	Measure	Value
AQUACULTURE						
Crawfish (Farm) (Total)	15		1,500 Acres in Prod.	900,000	lbs.	\$1,080,000
A qua quitura (Total)						\$1,080,000

Number of Producers Production Production Measure Value

AQUACULTURE
Crawfish (Farm) (Total) 15 1,500 Acres in Prod. 900,000 lbs. \$1,080,000
Aquaculture (Total) \$1,080,000
FRESHWATER FISHERIES
Freshwater Finfish (Total) 18,432 lbs. \$16,522
MARINE FISHERIES

MARINE FISHERIES						
Shrimp (Total)	150			5,428,588	lbs.	\$8,093,482
Crabs (Total)	32			112,607	lbs.	\$107,258
Marine Fisheries (Total)						\$8,200,740
Alligators (Wild) (Total)				3,562	ft.	\$89,063
HUNTING LEASES						
Waterfowl (Total)	40	18,000	No. Acres		acre	\$270,000
			Leased			
All Other Game (Total)	20	12,000	No. Acres		acre	\$84,000
			Leased			
Hunting Leases (Total)						\$354,000
TOTAL ALL FISHERIES & W	ILDLIFE ENTERPRISES					\$9,740,325

^{**} The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

CALCASIEU PARISH

CALCASIEU PARISH ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				6,425	head	\$3,193,900
400-500 lbs.				6,425	head	\$3,583,704
500-600 lbs.				1,450	head	\$887,697
600-700 lbs.				500	head	\$343,688
Steer Calves (Total)						\$8,008,989
Heifer Calves						
300-400 lbs.				5,250	head	\$2,317,639
400-500 lbs.				4,550	head	\$2,374,076
500-600 lbs.				450	head	\$260,147
600-700 lbs.				2,650	head	\$1,765,218
Heifer Calves (Total)						\$6,717,080
Yearling Cattle						
600-700 lbs.				1,500	head	\$974,513
700-800 lbs.				1,000	head	\$712,125
Yearling Cattle (Total)						\$1,686,638
Cattle & Calves (Total)	390	No. C	Cows			\$16,412,707
HORSES						
Brood Mares						
Race Horses	450	1,400 No. E	Brood Mares	850	head	\$6,800,000
Show Horses	375	900 No. E	Brood Mares	350	head	\$1,400,000
Recreation Horses	100	150 No. E	Brood Mares	60	head	\$90,000
Brood Mares (Total)						\$8,290,000
Stud Fees						
Race Horses	250	350 No. S	tallions	1,500	mares bred	\$3,750,000
Show Horses		20 No. S	tallions	100	mares bred	\$150,000
Recreation Horses		50 No. S	tallions	200	mares bred	\$100,000
Stud Fees (Total)						\$4,000,000
Race Horses (Total)	400			1,550	head	\$18,600,000

HORSES						
Show Horses (Total)	350			675	head	\$3,375,000
Recreation Horses (Total)	2,375			3,700	head	\$5,550,000
Horses (Total)						\$39,815,000
RABBITS						
Fryers (Total)	30	750	No. Animals	3,000	lbs.	\$2,400
Does (Total)	20	200	No. Animals	1,700	lbs.	\$255
Rabbits (Total)						\$2,655
SHEEP						
Wool (Total)		800	No. Sheared	4,000	cwt.	\$1,000
Slaughter Lambs (Total)				300	head	\$46,875
Feeder Lambs (Total)				675	head	\$50,625
Show Lambs (Total)				100	head	\$30,000
Stocker Sheep (Total)				300	head	\$22,500
Cull Sheep (Total)				180	head	\$9,000
Sheep (Total)	80	800	No.Breeding			\$160,000
			Ewes			
GOATS						
Show Goats (Total)				375	head	\$93,750
Slaughter Goats (Total)				800	head	\$100,000
Stocker Goats (Total)				400	head	\$38,000
Cull Goats (Total)				200	head	\$13,000
Goats (Total)	200	1,500	No. Does			\$244,750
SWINE						
Show Pigs (Total)				450	head	\$126,000
Feeder Pigs (Total)				1,000	head	\$30,000
Slaughter Hogs (Total)				400	head	\$48,090
Culls (Total)				125	head	\$20,000
Swine (Total)	27	225	No. Sows			\$224,090
TOTAL ALL ANIMAL ENTERPRISE	S					\$56,859,201

CALCASIEU PARISH \$119,665,930 83